A KNEh A FHPR 2 T]

JOTA BEARING CO., LTD.

BEARINGS




ﬁgxxm&%mza

X7

oneto/ JOTABEARING CO., LTD.

B,

B &)
. B e B ﬂ_{ﬁ I

N S . ” | S, | ry ?

(@1 0 [0 @

r el L I r
T T3 3 3 2 33 3 3|
| L. ¥

= = 7 = )

A — A |y |
RAREY PrEEEEY E)ves] PhEEEEY
Open type Shielded type Open type Shielded type

2z 77 - 7Z1
FEE i) 5% EAREIRTE
o & BOER
d D B B1 D1 C1 | C2 JIS NMB Cr(kgf)|Cor(kgf)

1.016| 1/8 |1.1913| — — RI—2 — — 7 2

1.397|3/16| 5/64 | 7/64 | 5.944 |10.584|0.787| RI—3 RlI—3zz RIF—3 RIF —3zz 15 6

5/64 | 1/4 | 3/32 | 3.57 | 7.518 |0.584(0.787 | — RlI—4zz RIF—4 RIF —4zz 19 7

3/32 (3/16| 1/16 | 3/32| 5.944 |0.457(0.787 | RI—3332 | RI—3332zz | RIF—3332 | RIF—3332zz 9 3.5

3/32 [5/16| 2.78 | 3.57 | 9.119 |0.584(0.787 | RI—5 RlI—5zz RIF—5 RIF —5zz 33 13

1/8 | 1/4 | 3/32 | 7/64 | 7.518 |0.584|0.787| R—144 RI—418zz |RIF—418 |RIF—418zz 18 7

1/8 |5/16| 7/64 | 9/64 | 9.119 [0.584|0.787| R2—5 RI—518zz |RIF—518 |RIF—518zz 33 13

1/8 | 3/8 | 7/64 | 9/64 |10.719({0.584|0.787| R2—6 RI—618zz |RIF—618 |RIF—618zz 33 13

1/8 | 3/8 | 5/32 | 5/32|11.176|0.762(0.762| R—2 R—2zz RF—2 RF —2zz 37 15

5/32 |5/16| 7/64 | 1/8 | 9.119 |0.584(0.914| R—155 RI—5532zz | RIF—5532 | RIF—5532zz | 24 9.5

3/16 [5/16| 7/64 | 1/8 | 9.119 |0.584(0.914| R— 156 RI—5632zz | RIF—5632 | RIF—5632zz | 24 9.5

3/16 | 3/8 | 1/8 1/8 110.719|0.584(0.789| R— 166 RI—6632zz | RIF—6632 | RIF—6632zz | 24 9.5

3/16 | 1/2 | 5/32 |5mm|14.351|1.067(1.067| R—3 R—3zz RF—3 RF—3zz 77 34

3/16 | 1/2 | 5mm RA—3 77 34

1/4 | 3/8| 1/8 1/8 110.719|0.584(0.914| R— 168 RI—614zz |RIF—614 |RIF—614zz 23 11

114 (12| 1/8 | 3/16(13.894|/0.584|1.143| R—188 RI—814zz |RIF—814 |RIF—814zz 63 28

1/4 | 5/8 | 5mm | 5mm|17.526|1.067(1.067| R—4 R—4zz RF—4 RF—4zz 86 39

114 | 3/4 | 7/32 | 9/132 R—4A RI—1214zz 189 95

5/16 | 1/2 | 5/32 | 5/32|13.894|0.787(0.787| R—1810 | RI—8516zz | RIF—8516 | RIF—8516zz| 50 24

3/8 | 7/8 | 7/32 | 9/32 (24.613 1.575| R—6 RI—1438zz RF —6zz 261 137

12 (1% | 1/4 | 5/16 R—8 RI—1812zz 316 | 177

5/8 | 1% | 9/32 |11/32 R—10 R—10zz

3/4 | 1% | 5/16 | 7/16 R—12 R—12zz

7/8 | 1% | 3/8 1/2 R—14 R—14zz

1" | 2" | 3/8 1/2 R—16 R—16zz

1% [ 2% | 3/8 1/2 R—18 R—18zz

1% | 2% | 3/8 1/2 R—20 R—20zz

1% | 2% | 7/16 | 9/16 R—22 R—22zz

1% | 2% | 7/16 | 9/16 R—24 R—24zz

11




ﬁgxxm&amza
o/ JOTA BEARING CO., LTD.

W5 ¢

B,
4 B c C,
B 1 <~
- 3 L3
" ; r J | r
[ ) 191 @)
r P — I o
= Q | =~ )
3 3. 3 & 3| 3 3 3
| | §OK) 4';_@1 '
=5 4 R} —d
BARYEY PrEEEEY RARgEY PHEEEEY
Open type Shielded type Open type Shielded type
zZ ZZ - 771
45 5% R~ 3
FETE BhA B HAFEFE (k) FpRESR (rpm)
Grease Ol
d D B B1| D1 | C1 | C2 JIS NMB C Co i et
3/8 | 5/8|5/32|5/32 RI-1038 | RI-1038zz 44 21
1/2 | 3/4|5/32 | 5/32 RI-1212 | RI-1212zz 51 28
5/8 | 7/8|5/32|5/32 RI-1458 | RI-1458zz 53 31
3/4 1"| 5/32 | 5/32 RI-1634 | RI-1634zz 58 38
1/8| 3/8| — |3/16 F-22Z
3/16 | 9/16| — 1/4 F-3z2Z
14| 5/8| — 1/4 F-4z2Z
5/16 |11/16| — 1/4 F-52Z
= 1
HREFECTI0RS
FETE BhABIR EREREE (kgf) FRPRE SR (rpm)
Grease Qil
d D B B1| D1 | C1 | C2 JIS NMB C Co et et
10 15 4 4 1165 0.8 6700 A-1510 129 57 36000 42000
12 18 4 4 6701 109 67 32000 38000
15 | 21 4 4 6702 117 81 29000 34000
17 | 23 4 4 6703 122 88 26000 31000
20 | 27 4 4 6704 183 135 23000 28000
25 | 32 4 4 6705 197 158 19000 23000
30 | 37 4 4 6706 209 182 17000 20000
35 | 44 5 5 6707
40 | 50 6 6 6708
45 | 55 6 6 6709

12



ﬁgxxmﬂﬁmza
et/ JOTA BEARING CO., LTD.

™
[ S
' 1
A% [ W, O (O WA
: PrEEER FEREIEBY EETnEn

63300 3%l B 2 w DD - DDU
R EEE FL&mm 4MEmm EEmMm EAXER KN kg
Bearing Number Bore(d) OD(D) Width(B) EfE C g E Co Weigh
63302 15 42 19.0 8.71 5.24 0.150
63303 17 47 22.2 10.42 6.35 0.190
63304 20 52 22.2 12.22 7.62 0.210
63305 25 62 254 16.22 10.53 0.350
63306 30 72 30.2 20.44 14.00 0.540
63307 35 80 34.9 25.55 18.00 0.700

(%% RLS &%) Inch RLS Series

BhA SR AEmm | SMEmm | EEmm EXRAT KN Eikg
Bearing Number Bore(d) OD(D) Width(B) EfE C g5 E Co Weigh
RLS4 12.700 33.338 9.525 4.36 2.51 0.038
RLS5 15.875 39.688 11.113 8.62 4.51 0.067
RLS6 19.050 47.625 14.288 9.08 5.19 0.120
RLS7 22.225 50.800 14.288 9.72 6.20 0.142
RLS8 25.400 57.150 15.875 10.78 6.98 0.160
RLS9 28.575 63.500 15.875 12.80 8.40 0.185
RLS10 31.750 69.850 17.463 17.64 13.19 0.285
RLS11 34.925 76.200 17.463 19.77 15.30 0.362
RLS12 38.100 82.550 19.050 25.09 18.14 0.402
RMS4 12.700 41.275 15.875 7.35 4.41 0.1076
RMS5 15.875 63.500 15.875 10.45 6.56 0.1172
RMS6 19.050 50.800 17.463 9.88 6.20 0.1606
RMS7 22.225 57.150 17.462 10.78 6.98 0.223
RMS8 25.400 63.500 19.050 17.22 11.39 0.259
RMS9 28.575 71.438 20.638 27.00 15.19 0.372
RMS10 31.750 79.375 22.225 27.00 15.19 0.542

21



22

@A)

<OT3

W5 ¢

) A K #h A H PR 5]
JOTA BEARING CO., LTD.

e fhEEER FEAZTEL 2 EETnEm
zz w DD+ DDU
Inch 1600Series
BhABIER A& d 4ME D HEB Efr BERAKN)
Bearing No. mm in mm in mm in mm F&Cr | Z&fCor
B 6.35 25
1601 4.763 1875 | 17.463 6875 0.30 1970 730
] 7.938 .3125
BE 6.35 .25
1602 B8 6.350 .2500 | 17.463 .6875 7938 3195 0.30 1970 730
5] 7.144 .2813
1603 B8 7.938 3125 | 22.225 .8750 8.731 3437 0.30 3290 1360
5] 7.144 .2813
1604 B8 9.525 3750 | 22.225 .8750 8.731 3437 0.38 3330 1410
1605 7.938 3125 | 23.017 .9062 7.938 3125 | 0.30 3330 1410
1606 9.525 3750 | 23.017 .9062 7.938 3125 | 0.38 3330 1410
1607 11.113 4375 | 23.017 .9062 7.938 3125 | 0.38 2690 1270
1614 9.525 3750 | 28.575 1.125 9.525 375 | 0.64 5110 2390
1615 11.113 4375 | 28.575 1.125 9.525 375 | 0.64 5110 2390
1616 12.700 .5000 | 28.575 1.125 9.525 375 | 0.64 5110 2390
1620 11.113 4375 | 34.925 1.375 | 11.112 4375 | 0.64 7450 3700
1621 12.700 .5000 | 34.925 1.375 | 11.112 4375 | 0.64 7450 3700
1622 14.288 5625 | 34.925 1.375 | 11.112 4375 | 0.64 7450 3700
1623 15.875 .6250 | 34.925 1.375 | 11.112 4375 | 0.64 7450 3700
1628 15.875 .6250 | 41.275 1.625 12.7 .5000 | 0.64 9390 5020
1630 19.050 .7500 | 41.275 1.625 12.7 .5000 | 0.64 9390 5020
1633 15.875 .6250 | 44.450 1.750 12.7 .5000 | 0.64 9390 5020
1635 19.050 .7500 | 44.450 1.750 12.7 .5000 | 0.64 9390 5020
1638 19.050 .7500 | 50.800 2.0 14.288 5625 | 0.64 10060 5860
1640 22.225 .8750 | 50.800 2.0 14.288 5625 | 0.64 10060 5860
1641 25.400 1 | 50.800 2.0 14.288 5625 | 0.64 10060 5860




htt-ps //|skbear|ng comﬂ

TEL +886 3-312/5=0202

E-mail : iskbearing@jota:bearking:com:tw,
Address : NO.65,LLn. 1434, ChunRi‘RBD,
33051 Taoyuan, Taiwan, R.O:E




	�¶�±  11
	�¶�±  12
	�¶�±  21
	�¶�±  22
	空白頁面
	空白頁面
	空白頁面
	空白頁面



